GEOGRAPHY
Paper I1I

T

gyTutseht 11
Time Allowed : 75 Minutes] [Maximum Marks : 100
Note : This paper contains Fifty (50) multiple choice questions, each question
carrying Two (2) marks. Attempt All questions.
AT : A1 TRAAehd TR TR (50) SgUEE R fooiel Rd. Uoeh el g ()

O 3TRd. @d yeAEl Sw forl

1. Which of the following scholar | 1. Y@IcTuehl SIUIAT ISR ‘TR @
proposed the theory of isostasy ? Tehedqdl diget ?
(A) Powell (A) dlaa
(B) Gilbert (B) fireter
(C) Hutton (C) BT
(D) Dutton (D) A
2. Oceanic crusts are not older | 2. HR FHTTooiivirrennnnn. gefden A
than................ years. RIS
(A) 200 million (A) 20 w1t
(B) 2 billion (B) 200 e
(C) 700 million (C) 70 =il
(D) 3.5 billion (D) 350 @It
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The type of exogenetic processes
that dominate in a given region

depends on ................ .

(A) rock type in the region

(B) relief condition in the region
(C) climatic conditions in the region

(D) Natural vegetation in the

region

The fold mountain systems are

generally parallel to...................... .
(A) subduction zones

(B) spreading sites

(C) transform plate boundaries
(D) Island arcs

Which of the following is not a
climatically controlled agent of

erosion ?

(A) Running water
(B) Wind

(C) Groundwater

(D) Glacier

TERET Y hIUAT Sifgsiieh gfsharn

ggHid A T UTHEAM. oo =
FIAT Y.

(A) UIMIA TSk YhK

(B) YT SHEETIUN

(C) YIMEIA gamHH et

(D) W SEfifer oot

(A) THIUE &
(B) faerm faum
(C) Ghdl 31 HH

(D) gra =g

TCHeTdeh! IV STIERY ek FaTHH
(ERECH =

(A) dr=d i

(B) 9

(C) 9=t

(D) fert
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The region under pseudo-monsoon

effect is :

(A) China

(B) India

(C) Guinea coast
(D) Australia

The ground based instrument that

is used for ozone measurement is :
(A) Dobson spectrophotometer

(B) Ozone sondes

(C) TOMS

(D) Campbell-Stokes sunshine

recorder
Terrestrial radiation is :
(A) Ultraviolet
(B) Infrared
(C) Visible

(D) Microwave

(B) YRd
(C) fl ==

(D) Atefern

SIEEIEISE IS EIRS RIS T USRI 6

AE U TR0
(A) Slagd TWaRIheH
(B) A died

(C) TOMS (3. 3. TH. [WH.)

(D) HHAA-LFT GTEET el
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10.

11.

In general circulation of the
atmosphere................. is an induced

cell.

(A) Ferrel cell

(B) Polar front cell
(C) Hadley cell
(D) Rossby cell

In the past, Greeks thought they are

in the climatic zone of :
(A) Temperate

(B) Frigid

(C) Torrid

(D) Sub-frigid

Salinity is weight of salt in grams

PeT.ccccennrrnnnn. grams of water.
(A) 10

(B) 100

(C) 1,000

(D) 10,000

10.

11.

(A) 10

(B) 100
(C) 1,000

(D) 10,000
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12. The only sea without shores on the

earth is :

(A) Chukchi sea
(B) Barrent sea
(C) Sargossa sea
(D) Scotia sea

13. Corals on the west coast of India are

found along................ coast.
(A) Gujarat

(B) Maharashtra

(C) Goa

(D) Kerala

14. Which one of the following pairs, is

not correctly matched ?
(A) Latosol—Evergreen
(B) Chernozem—Savannas
(C) Sierozen—Deserts

(D) Podzol—Conifer

12. gefiadial T F9eiell THAd 993

13.

14.

AUG-36211/1I1

e :

(A) I TS
(B) R=d 993
(C) | 93

(D) RIS HHZ

Rar= Uiy=d fRar=arerTa geesi=h

ﬁ-ﬁ:i?ﬁ ........... r%*”*q'(’”ld d*“GOda .

(A) TSI
(B) HeIISg

(C) e

(D) s

A o

@rciiedeh] faema el fHaer .

(A) < - HERdd

(B) =Ae™ - TegM
(C) fawlgm - <=

(D) diedidd — =hifHT
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15.

16.

17.

Oceans transfer..................... energy.
(A) 60%
(B) 40%
(C) 90%
D) 50%

Hartshorne’s book on “Nature of

Geography” basically deals with :

(A) Methodological aspects

(B) Applied aspects of Regional
Geography

(C) Conceptual aspects of Regional

Geography
Systematic Geography

..................... is credited for dividing

geography into “general” and

“special”.

(A) Ritter
(B) Humboldt
(C) Varenius

(D) Huntington

16.

17.

(A) 60%

(B) 40%
(C) 90%
(D) 50%

BRI fetfeeiel =R 3tfe fSieimmet !

(B) Uf¥rer e IwAifa &

(C) URf¥reh et HehodATcHer 37

(D) Tl e

................... AT qma fawar
“Eme et e erd favsH
el

A) frex

(B) ®dee

(C) o™

(D) wferea
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19.

20.

............ led to the development of

Modern Geography.
(A) Colonialism

(B) Rising power of European

countries
(C) Use of mapping techniques
(D) Explorations of new lands

Fred Schaeffer developed the concept
of :

(A) Positivism

(B) Determinism

(C) Spatial organisation
(D) Possibilism

The foundations of historical

geography were laid by :
(A) Ibn-Khaldun

(B) Huntington

(C) Ratzel

(D) Ibn-Batuta

19.

20.

AUG-36211/1I1

............. Hos YR A= fohry

(A) THRAAR

(B) JIATae QRS oed! STeRit

(C) TRRMRMETET 9149

(D) o9 Youm=n Y

.................... B THOT He IR

(A) JI& [AAER
(B) frarditarg
(C) AfvEEta e

(D) S1RIdTEg

Afererfass oitetran qrr I ST
(A) 31 TRy

(B) gféred

(C) Y=

(D) 7=T o
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21. K-7 principle in Christaller’s Theory

refers to :

(A) Transport

(B) Marketing

(C) Administrative
(D) Industrial

22. Structural morphology of a

settlement refers to :

(A) Layout of buildings and

transport network
(B) Functional areas
(C) Social areas
(D) Shape of the settlement

23. Transition zone in concentric model

refers to :

(A) Commercial and Residential

areas

(B) Residential and Recreational

areas

(C) Industrial and Commercial

areas

(D) Slum and other blight areas

21.

22.

23.

= HeWld &R :
(A) dmEqsh

(B) WA

(C) RmEh™

(D) 3R

FEIe TS AREST RUN..oo.....

(A) SARGEN o STEqehil STHfaed
(B) =r faum

(C) HrHifStsh farsm

(D) &= 3R

N o

THh I T FshHT oYM o :

(A) MR oAfo fareft &
(B) fromht o &\ &
(C) TEifir 9 =R &

(D) SgeUel o TR Weldl &

v StudentBounty.com


http://www.studentbounty.com/
http://studentbounty.com/

25.

26.

..................... shows the highest

primary index.
(A) Mumbai
(B) Kolkata
(C) Bengaluru
(D) Ahmedabad

A small residential ethnic group in

an urban area is called :
(A) Slum

(B) Ghetto

(C) Squatter

(D) Basti

Who among the following is engaged

in tertiary activity ?
(A) Farmer

(B) Miner

(C) Construction worker

(D) Retail trader

25.

AUG-36211/1I1

””””””” =1 mefeshar fevme dafd S

(A) g8
(B) hicehTdl

(C) SFIg®

(D) STEHTTEIR

A gEdTdra et et ey

(C) fo1 g ol

(D) =i

26. WICIeh! I FAT SHIFRT STSheTal

TEAl

(A) sl

(B) @MUl hH
(C) weTsht™ AR

(D) fertehles sATART
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28.

29.

.................... is non-conventional and | 27,

non-renewable source of energy.

(A) Coal

(B) Petroleum

(C) Wind (C) =

(D) Atomic minerals (D) 17 FCIT]
Pick out the odd industry. 28. Y]

(A) Sugar (A) |ER

(B) Iron and Steel (B) g 9 UK
(C) Cement (C) faie

(D) Automobile

Prairies are characterized by : 29 Y& =

(A) Intensive farming (A) FEIA St
(B) Extensive farming (B) foearia 9t
(C) Mixed farming (C) fag It

(D) Subsistence farming (D) eafesw It

10
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31.

32.

....................... is an example of sunset

industry.

(A) Jute

(B) Cotton

(C) Leather
(D) Automobile

With his concept of “Rimland”
Spykman tried to :

(A) Explain the importance of sea

power
(B) Justify colonialism

(C) Caution USA against the
danger of world domination by

Germany

(D) Unite USA and England

against Russia

48th parallel of latitude forms the

boundary between :

(A) North Korea and South Korea
(B) USA and Canada

(C) USA and Mexico

(D) India and China

31.

32.

AUG-36211/1I1

T Al UM I 3R
(A) g2 SEm

(B) =hTqd &M

(C) =¥ &M

(D) WIEed ded

TERTT | ' weSIyH = dhedd §R

Gl ShI0Al G hadl.

(A) 995 TRKiD Heed TS hol

(B) I9EdERNE gqdq &al

(C) = SAeR 9y fHesarvar=n

o] SIgaal STHN AT STTEh hiul

(D) mafteRT onfor Sretgen e fadema
Th3 A0

48° 3771 IO hIvTcaT SIMHEST ST Yo
AR ?

(A) S enfor gferor whifen
(B) I WH.T. 30 *Tel
(C) Juq.q. o7for Aferehl
(D) wRd 3o ==

11
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33. What is the skin colour of the

Mongoloid race ?
(A) White

(B) Yellow

(C) Black

(D) Red

34. Every culture region has a centre

which is termed :

(A) Hearth

(B) Domain

(C) Core

(D) Sphere of influence

35. Cultural regionalism in India is best

defined by :
(A) Religion
(B) Language
(C) Caste

(D) Dialect

33. Hiicilge o9l col=mgv hiol 2

34.

35.

(A) 9
(B) fudea
(C) Tl

(D) di=el

g WRfdeh Uoum=l Th HEA 97

A STl

Uldld.

(A) TN
(B) &=
(C) T+

(D) g9 &

IRAME e A RTehdrarer= e

M B I Tedh TR
(A) ¥d
(B) 9«
(C) it

(D) dresren

12
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36.

37.

38.

‘Region’ differs from ‘area’ in :
(A) Expanse

(B) Content

(C) Unification

(D) Boundary

...................... is the best region forming

(A) Religion

(B) Language

(C) Common interest
(D) Climate

The Second Industrial Policy

resolution in Independent India was

36.

37.

AUG-36211/1I1

lm?—&qlaadwg’atﬁﬁ ........... q@fw

A) gH

(B) wro

(C) Frasieh T

(D) BAM™M

38. TWay ¥RAH ‘‘fgd¥ SREMER &R
adopted in :
P BT e e TRl
(A) 1947
(A) 1947
(B) 1948
(B) 1948
(C) 1951
(C) 1951
(D) 1956
(D) 1956
13 [P.T.O.
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39. Operation flood programme was | 39.
aimed at :
(A) Controlling floods
(B) Providing flood relief
(C) Increasing food production (C) SFEAE S el
(D) Increasing milk production (D) T8 3T Sfrer™
40, oo is the best indicator of | 40. T el ferehraren sepe e o
development among the following : (A) GeETdE SEwH
(A) Falling death rate
8 (B) SFeXdiel wrewEm
(B) Falling birth rate
(C) 1H% FAZIA A
(C) Falling infant mortality rate
D) T AT SISHHTT
(D) Falling child mortality rate (D) = T
41. The highest temperature in 41. 35“(5“21 glUehHld SI&dlid  Slisd  dlYHIA
Peninsular India is reached : | 77777 S
(A) Before June 21 (A) 21 S[d qfﬁ
(B) On dJune 21 (B) 21 54 Asht
(C) After June 21 ©) 21 5 T
D) On October 21 .
(D) On October (D) 21 Al TS
42. Red soil is mostly found in the states .. . A
of - 42, deEMEl & eI HEd Eleledes]
IOl TSATd 3AT@sd 2
(A) Tamil Nadu and Andhra
Pradesh (A) THSAE a 3Ty T
(B) Andhra Pradesh and Karnataka (B) 371y Y9l § <hlesh
(C) Tamil Nadu and Karnataka (C) WHTg 3 Ftesh
D) Madhya P h Andh .
(D) Madhya Pradesh and ra D) T WY F Y R
Pradesh
14
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43. Which one of the following has the

maximum biodiversity ?
(A) Siwaliks

(B) Satpuras

(C) Aravallis

(D) Western Ghats

44. The world’s largest river island is

located in the course of :
(A) Ganga

(B) Padma

(C) Brahmaputra

(D) Kaveri

45, e, has the highest density

of population (2011).
(A) Bihar

(B) Kerala

(C) Uttar Pradesh
(D) West Bengal

46. Which of the following diagram is

drawn using polar co-ordinate

system ?

(A) Scatter diagram
(B) Flow diagram
(C) Bar/Line graph

(D) Wind rose

43.

44.

45.

46.

AUG-36211/TI1
EciieTdeh! hivrcan fashTon Taiferes Sifeeh
qfge sTeRd ?

UNRNEISIED
(B) wragst
(C) e
(D) 9f¥=m we

(A) T

(B) 9HT
(C) eI
(D) A

TSI Faid S AT EeH
AT S (2011).

(A) foer

(B) *&@

(C) IW YW
(D) e &

ATkl IV STRfd yeia sterges
YOt aT9&d hieell a2

(A) faswtomaia
(B) WaI@ 3Thfd
(C) WY 3T

(D) =dfeen SAehfd

15
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47. Value based boundaries are | 47 FHIIM TIR HIAHT TETAT Y2 IMA
introduced in a region when one Tefufien S e F9 9
draws............... map )
(A) Thematic (A) SeRTH
(B) Cadastral (B) STHH-rsont
(C) Choropleth (C) &rrert
(D) Isopleth (D) TR

48. Information about the religion of <. - . .
people from a region is considered | 48- TN UGRAI TThT=AT e et
to be at............... level of Tt H==T qIdcsial 3T
measurement.

(A) ORI
(A) Ratio
(B) Nominal (B)
(C) Interval (C) M
(D) Ordinal (D) hHYIR

49. Lorenz curve is a technique used 49, W= e ST STl
for : '

(A) Measuring the inequality in a (A) TS TATOMATA AT
given distribution HISTUATHTS

(B) Measuring the degree of (B) </ forar s1faer =edial Seq«aar
ass<?01at10n between two or more T
variables

(C) Prediction of dependent variable (C) STIAISIT FeATel Hlihd hITATHICS]

(D) Testing of hypothesis (D) TR deETEl A= HIEIS,

50. e, graph paper is used to | 50. FIfeIFRI=AT FHHTTETHET ATITN
test the normality of data series. HLOIERE G EC G 1 | IS | 1
(A) Arithmetic (A) SRR
(B) Semilog (B) eTeEmaien
(C) Probability (C) |
(D) Double log (D) =Taish

16
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ROUGH WORK
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ROUGH WORK
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ROUGH WORK
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ROUGH WORK
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